[weather gquard |

ACCESSORY SHELF DOOR

ATTENTION: PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS AND WARNINGS BEFORE ASSEMBLING, INSTALLING OR USING THIS PRODUCT.

A\ WARNING

- NOTICE -

These instructions are to be followed using the parts and fasteners
supplied for proper installation. Any modifications or improper
installation of this product will create a hazardous condition that
can cause property damage, serious personal injury or death.

Any modification or unintended use of this product shallimmediately
void allmanufacturers warranties. Manufacturer disclaims all liability
for injuries to persons or property resulting from any modification
to, or unintended use of this product.

Approximate Assembly and Installation Time:
20 min. (.3 hours) depending on van equipment
installation experience.

PARTS
ltem Qty. Description

A 1 Door Assembly
B 1 Latch Plate
1 Bolt Kit #32-0168

TOOLS REQUIRED

* Ruler
* Open End Wrenches: (2) 7/16"

V
WERNERCO

PAGE 1




BOLT KIT #32-0168 NOTE: Depending on your application you may end up with extra hardware after installation is complete.

Qty. Product Qty. Product

@m 15 1/4-20 x 5/8" Hex Head Bolts 15 1/4-20 Nylon Lock Nuts

@ Determine Shelf Door Assembly loaction
on Shelf Unit. Shelves need to be spaced
seven (7) End Panel holes apart (bolt to
bolt) for the door to fit correctly.

Place Door Assembly against the opening
between shelves and fasten hinge to the
row of shelf holes using one (1) 1/4-20 x
5/8" Hex Head Bolts and 1/4-20 Nylon
Lock Nuts per hole in hinge. The length of
the Shelf Door Assembly will determine the
number of fasteners used.

4
5 : P
N a
% QQ@
Q\ \
N N
N N
N N
N N
N N
N N,
N N |,
N N |
N N,
Q \ ,
\D
|

PAGE 2




@ DOOR ASSEMBLY INSTALL OPTIONS.

Standard Van Shelf Installation
(with bends up).

Fasten the Latch Plate to the bottom of the shelf 1/2" in from
the front of the shelf using two (2) 1/4-20 x 5/8" Hex Head
Bolts and 1/4-20 Nylon Lock Nuts. Close the Door. If the door
doesn't latch, or is too loose when latched, adjust the latch
plate in or out until the Door latches properly.

Latch Plate
installed with
short leg to the
front of the unit

1/2" |

Count four holes up from hinge and attach
cables from door panel to the inside of the
End Panel flange using two (2) 1/4-20 x
5/8" Hex Head Bolts and 1/4-20 Nylon Lock
Nuts. This will create a 90° angle when
door is down.

INSTALLATION IS NOW COMPLETE.

‘BT IEEITTHI T

DI T TTTTDTT DT

1/2" front of shelf to
front of Latch Plate

Flat Shelf and Welded Shelf Installation
(with bends down).

If installing the Door on a Flat Shelf or Welded Shelf with the shelf
flanges facing down, it will be necessary to mount the Latch Plate
with the long bend facing front. Fasten the Latch Plate to the bottom
of the shelf 1/2" in from the front of the shelf using two (2) 1/4-20 x
5/8" Hex Head Bolts and 1/4-20 Nylon Lock Nuts. Close the Door. If
the door doesn't latch, or is too loose when latched, adjust the latch
plate in or out until the Door latches properly.

Latch Plate
installed with
long leg to the
front of the unit

WERNERCO

PAGE 3

Looking for dependable commercial van equipment? Rely on Weather Guard for quality and long-lasting products.



https://www.carid.com/commercial-van-equipment.html
https://www.carid.com/weather-guard/



